Math F251: Section 2.7 Worksheet

1. Find f(a) using the definition of the derivative:

Fl) = 9%
(1) = in 2ertl oo (2000
h>0 h
= i 2_{3%@2;&‘4%&@4‘[—5
h
= liwa '
o -8 *““‘“;%“0: Yo 4|

2. Find f/(3) using the definition of the derivative:
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3. Find f’(a) using the definition of the derivative:
f(x)=+v1+5z
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Math F251: Section 2.7 Worksheet

4. Find an equation of the tangent line to the curve at the given point:
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Also sketch both the curve y = f(z) and the tangent line.
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5. A particle moves a distance s = f(t) along a straight line, where s is measured
in meters and ¢ is in seconds:

f(t) = 40t — 5¢
Find the velocity and speed when ¢ = 4.
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